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1 lEga D ARBEMAL A 541 1,654 7,308 1,178] 55,522 66,203
2|7 7INVT IR 69 19 87
3| TV NEEET v 766 21,006 3.8 21,775
4|7 7V NV R O DK ENES 1,422 33 1,455
5| T ZUNE2— (VAFNTI)) =F )V 21,006 21,006
677U NE2—ERrd L L 6.4 0.11 6.6
1T IUNE I IV~ — T F v 3,215 11 3,226
8|7 VU NEEAT L 2.2 21,006 0.56 21,008
9|7 7)a=R))L 4.2 9,004 28,879 37,887
07 7ar A 5,266 29,078] 187,083 1,411 38,160[  2,989] 10,629 274,617
11|71 F Mo A 8.7 8.7
12|77 VT ER 0.30 24,459| 159,783] 1,077,534 7,449] 160,901 258,035| 14,172] 9,315 0.21 23,131 1,734,780
13| 7 Zh=hk)v 10,058 4,572 17,413 32,042
1472y T JERY
15775
16]2, 2° =7V ALY T Fu=r)v 0.034 0.18 0.22
7 FHNb=T =2V 0.29 0.29
18] 7=V 7.8 166 174
191-73/—9, 10—T>hF% /v
2012—73)xH)—)L 17,297 2,754,138 2,396,080 5,167,516
PV 33,090 33,090
22| 747 =)L 6,830 1,520 8,350
23|85 =TT x)—)v 82 82
24\ AP —T)T =) =)V 78 78
25| AN T Vv 25,900 25,900
26]3—73/—1—7 v
27| A3bryv 207,426 6.0 207,432
28| TYNVT a—)v 1.5 1.5
29]1 —TUNAFT —2, 3—TRFL TSl 440 440
HEET N NRB U ZVR AR D
30 |4 (7 VR NV IED IR BRI 10D H14FETD 117,738| 121,423 17,980 4,161,036 1,786,968 6,195,144
HOKOZEDIREWIZIRD. )
31T FEL ROZEDILEY 1,908 58] 11,997 1,318 15,280
2|7 TR 0.030 0.030
33| £ 26 26
3—AYYTFhAFIL—3, 5, 5— ATV
M a7 R 50 0-004 50
35| AT FNTNTER
36| A/ 7L 253,153 14,104 267,257
3T|EATx/)— VA 1.3 141 143
2, 2" — ({7 F L e R[(2, 6—VF
38RE—4, 1—Tx=L ) FFV] Vs
/=
39| 7= FIRA
407 =F¥—Fh 14,700 14,700
41T NVRT= )L 62,133 62,133
42|12 — AV F AV 183 183
ERIE SV P
WAV DR OZEDILEY) 0.016 5.0 5.0
45| =B FA—)V
46 | X rky 7L 16,086 16,086
47| T HIRA 24,147 24,147
48| EPN
49|~ U T4 AHY 176,499 176,499
50 |EYFR—h 60,704 60,704
51|12 — T F /U ~FHh o 3,512 92 3,604
52| 7 F=HINT 31,440 31,440
53| F LB 4,019,440 661,918] 1,664 5,150,000 36,782 2,713,375 86,272] 32,667| 264,043] 3,543 3,345 3,269| 12,976,318
54| RAF T 54,861 54,861
55| =F LA
56| =F Lo AF LR 71,155 39,747 110,902
57|=FL o/ )a—LE)TF )L T—F )L 55,441 0.18 24 55,465
58| F LI )a—/VE ) AF N T—T )L 3,319 20 3,339
59| TFLLVTIV 1.8 3.1 5.0
218 1,174 6,729 8,121
178,300 178,300
1,732,120 1,732,120
114,912 114,912
64| Ch7 = Tuy I A 64,821 5,164 0.002 69,985
65| /rmERY 10 10
66]1, 2—TRFL T H
672, 3—TAFL—1—T /N )—)L
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68|fR (k7L 3.1 3.1
69 }2‘; 3—TAF VT RN =T =l —T 6.0 6.0
T AT U Bla BRERE R O~ A7 F
Ol p1p% ammo R A 1,426 1,426
T1 MRS — gk 22 22
79| AL STT7 4 (RFEHA0DH13ETOD
DROZDREWIIRD. )
T3 —HvH)—I 11 0.15 11
T4 G—F I FNT =)= 10 o
15| IRV LR OZOALEY 1.0 2.3 830 1411 2,368
ATy —hTaT IR 121 55 175
THANT LT FIN
78|12, 4—F L /)—)L
79|12, 6—F L /—)V 118 118
80| F L 5,303,845 774,419 51,256 10,142,000 4,080,053 188,504 10,757,422 267,750| 165,445 725,688 14,172 2,519 16,902 32,511,576
81 % /U 0.008 0.008
82 | K N D KIEMEAL & 1,256 2,291 1,826 5,373
83 /A~ 58,709 68 57,049 4,208 120,034
84|/ UAFH—/L 2.4 0.20 2.6
85|/ NHANT VT ER 2,720 36 2,756
86|71 —/L 245 214 6,398
87|70 bR O =AlizuMbEW 359 1,027 3,174 950 6,816
88 | Az LM AW 98 98
1,140 1,140
72,141 72,141
13,972 0.99 13,973
92 MV T 2 BTR 17,544 17,544
93| AT IE—/L 86,270 86,270
94 |Hfifke =1 1,176 78 1,254
95| 7 )VT ) A 81,824 11 81,835
96|27 = /) —)u 6,878 6,878
97|1—7nn—2— (ZuuAF L) By
98 | 7
99|/ okt IV 35 35
100/ 7V F 77— 106,557 106,557
10175 7m—1 144,714 144,714
102/1—smr—2, 4—V =By
103 HCFC—142b 286,710
104 HCFC—22 1,110,690
105 HCFC—124
106 HCFC—133
107/CFC—13
108 A7y 111,383 111,383
109 AV h—zaapl
110N — /oL =xy
111|2—Zop—4—=pa7=Jr
112[2—/nn=fa~ P
1133~ 3,577 3,577
4\ A5 )77 16,683 0.72 16,684
1157 xR FHIK 107,123 107,123
116 [(~FLF T/ IA 880 880
11777 a)y—n 85,325 8.3 85,520
118|377 4= 2,023 2,023
197 =Ta)y—L 11,470 11,470
120 ANV h—rmrrT7 =) —)L
12135 —/aa7x/)—)v
122]2— /o7 e 4 i
123 | #{L TV 10 10
124|730 m 19,539 19,539
125/ 7nn_ By 17,976 63,994 1,139 1,389 84,498
126|CFC—115 639
1277 aaskL . 15,402 14,404 1,444 87,225
128 Mt AF v
129|4—7au—3—AFNTx/)—)L
130 MCP
131]3—7ua—2—AF)L—1—7a~
1322 VR R O DG 1,946 16,600 63 18,680
133 ;:il]f‘/ﬁuz~w%/17—zlx:n~%/b7ﬁz 47,248 0.80 47,249
134 |FEfgE = /L 35,821 17,373 628 53,822
135 TF LTV V) AT N T—T TR




XL FYE AERIPEH B (kg/4E, X AAX B IEmg-TEQ/4E)
1 2 1 5 6 7 8 9 10 11 B 13 11 5 18 20 o1 2 23
s Fore iy . DS A | B | o L] o Hize R (R | o, RO TERTEAE oy
o K B R T s | mew | vv | OISR TR T T R Thm | e | PHE PRI
T 3 3
HPUF LT ILTER
ST IR 21,356 21,356
vray Avh
FSEARNY 336 725
= N 5,204 5,408
23.100 23.100
4 A —OT VT e T
S ~ ey K< N
%?/7/45”%(%15&0/7/@@% 2,325 283 11,546 14,154
2— (VEFNTI))TH ) —)v 17 17
EUSEAAT L
FA R IINT 56,906 56,906
J7 =y ARy 28.731 28.731
DR 10 10
14— VA% 2.790 1.979 1,769
13- VA%V 5111 511
AL ST 114,363 114,363
TR AR 32272
TIRNFYNNT IV 19 19
N— (L 7a~F AT H) TENAIE 139 898 1,037
vrany =
1. 2—vyanxiy 3,715 87 3,802
ke =5
TA—1, 2—Y/upnrFL
3,3 —Yrnn—4,4 —V7I)P7 =
AR
CFC—12 108,666 108.666
FuEyIr 33,726 33,726
CFC—114
HCFC—123 54,714 54,714
2, 4—vrunhlxy
12— osnn—4——fo Py
1. 4—Y7nn—2—=pa~ B
AFavAy 35,582 35,582
Jony 30] 124,665 53 124748
FrFaFy— 2.812 2.812
Farary—L 26,246 28.260
P D 18,925 18,925
[SNA=VANE
Vet 165,327 0.94 165,327
2.4-D 150,528 150,528
HCFC—141b 836,761 836,761
HCFC—21
1. 2—vsaarasy 1 2,185 2,199
D-D 7,130,347 7,130,347
3.3 —vraaL YUy
22 5.674.690 L1148 5.394|  5.728.066
12,690 12,690
124,780 15 124785
145,571 2.9 145,574
15.083 15.083
1,985,660 2,858 1,988,518
106,596 106,596
N. N— U /a7y 0.45 0.45
N, N= Ui /anF b —2— o/ F7
SV AT =T IR
2D 0.039 0.039
A TaF AT 79,808 79,808
T 4T L RA
TF AT A AR
A=
FuFAIA 69,595 0.19 69,595
AT L F A 101,826 101,826
~5 73,248 73,248
DARE—] 1470 1.0 4471
CIZ AL AL 1260 1 1
J=hahrxz
2, 4—v=ba7x/—)L
TE= AR B
ST T 66 0.83 66
V7 =)L T—T )
13— V72T =0y 0.006 0.006




XL FYE AERPEH B (kg/4F, Z A% 31 Emg-TEQ/4E)
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206 B RANLT 7T 2,201 7,291
207/ % 6 ¥ TFN—A=TV 280 4674 1,550 6.4 6,521
208|2. 4— Y —H— ) —TFAT =)
209 Y7 uE OO AR 25,453 21,037 17,39
210]2. 2— V7 aE—2— L7 )T ERTF 1601 1,601
211] o — 2402 535 535
227 E 7=k 216,553 216.553
213|N, N— UAF LT L7 17,868 651 236 18.755
214(2. A—VAFNT =)y
215|2. 6—VAFAT =V
216|N. N—UAF AT =U> 0.59 34 34
BYEEZN 20,550 20,550
28| UAF AT 48 0.50 148
219 | PAF NN AT 4R
220 AT ST A I S RO KT
21|~ T IINT 32,860 0.54 32,861
2297 = ) FFHINT
223|N. N— UAFAE 0.007 0.007
224 I':I N=LAFARTUATI=NATY 0803 696,960 14,217 722,001
225 N7 20550 460 21,010
226|1. 1—VAFALEETV
227 \5a—L 73,040 73.040
298|3 3 —UAFAET == —4, 4 —DA

= DAVLT F—
220|F A7 7 F— I AF N 319.435 319.435
230 N—(1, 3—VAFLTF)N) —N —T ==

= IRFG—T =L VT I
231 | ANR—=RIT v
232|N. N—UAF AL LTI 742,731 742,731
233] 7= Fr—h 75.546 75546
234 |1 8.1 0.78 8.9
235 | LRI KTATEHR 0.016 0.016
236|742 =/ 25.080 25.080
237 KL O DALY 70 1.339 1704 3113
238 K#ALT N T ==V
239 AHEA XL E 1 321 321
200 AF Lo 163,802 7.0 9,350 25315 521,093 45,155 35,505] 117,273 917,841
o4 |2 ANENFF TH U — 1= AT LA

TIVFRIT L
242 L ROZDIL A 0.27 5.029  0.18 5.030
243|574 L K 30,547 30,547
2445 Aok 2.667.839 Lo 2,667,840
245 | F A [ 3% 0.008 1,348 1348
246 F AT = J—)L
247 |E5 7 0kA
US| TATV ) 265.424 265.424
249] JELE YRR 60.243 60.243
250 A% Y F Ay 19,604 19,604
251|7 == Ty 312,683 9,253 0.91 321.937
252| T F A 4367 1367
253 Fu7 = sk 1,800 1,800
254 AT r kA 6.494 6.494
255|F A7 0TS T 2= =—T )L 45 45
256 |5 148 i3 160
257\ 59 )— v 180,103 0.040 19 180,122
258 |~ FAFLL T T 77 65.289 148 65,514
259| DALT 4T A 396 39
260/ 7L 280.223 280.223
26179541 100,748 100,748
262|515 /naTFLL 190.300 78 2.449] 193228
263|CFC—112
264 2, 3,5, 6—FhFran— 53— V¥

v
265 |7 N FER AT LA 2R
266|177 /L Mo 13,274 13,274
267\ F A INT 17.538 17.538
268| F 771 288]  231.856 232,144
269|474 —)
270|570 7 SV 0.025 0.72 0.75
LT TN AT I 0.020 0.020
272 | AL (A RS, ) 194 3,060 4112 1,066 5,446 13.877
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213\ )NV~ )V —RT VLT ha—/L 73 9,374 54 9,501
2742 —y XYV —R T v FA—)L
275 |7 VR TR 2 26,970 13,982 29 1,430,669 526,549 1,998,199
276| 7RI F LB 60 2,758 2,818
IVES S8 % 8,265 41,487 49,752
218 N =F LTIV 246 1,384 1,631
279|1, 1, 1—KN)rprxz
280|1, 1, 2—h)Zmrrxy
281 |F)yurTFL o 563,131 179 3,434 566,744
282| M)/ R 76 410 486
283]2, 4, 6—R)rmr—1, 3, 5—R7Y 9.0 9.0
284|CFC—113
285|/uoe sy 5,634,305 5,634,305
286 | Ny’ L 15,324 15,324
2872, 4, 6—h)rop7=/—
288|CFC—11 689,160 689,160
289|1, 2, 3—R)Zmr7ms S
290 [F)Zmm~ B 309 309
1, 3, 5—hA(2, 3—ZHF L FuE L) —
291|1, 3, 5— N7 Y —2, 4, 6(1H, 3H, 5 83 83
H) —MAr
292N T F LTIV
293[RJ7 LTV 127,373 127,373
294|2, 4, 6—N)TBET=/)—)L 3.8 3.8
295(3, 5, 5—RJAF /L —1 —~FH /—)L
296|1, 2, 4—MAF L 1,208,987 28,116] 22,427 27,671 1,533,645 14,298 3,467 60,955 2,899,564
297[1, 3, 5—RJAF LB 525,257 8,219 6,092 1,568,000 38,809 870,079 31,546 40,319] 72,950 1,900 5,920| 3,169,090
298| NIL > DAY T F—h 243 0.008 243
299| LAY 1.8 5,660 5,662
300[ L 8,716,580 1,335 93] 523,543 6,539,270 349,285 55,719 18,847,601 400,011] 248,018 902,590/ 10,629| 4,833 21,481 759| 36,621,748
301 LEroTI 501 501
302/ F7HL v 96,138 62,506 50 62,550 19,440 2,003 242,687
303|1, 5—FTHLLVAN=VAY VT F—h
30460 2.1 2.1
305 |$n{b B 399 1,485 5,789 2,790 8,125 18,588
306| —7 JU)VEEANF Y AT LV 5.1 143 148
307 | HifbEE by v a =0 A
308 4.8 179 184
309 177 303 78,303 1,422 3,299 83,504
310 6.0 6.0
311
32| AN h—=brT =)
313|=pa s VY
314|837 —=prrup P
315 | A/ h—=Fa Lz
316 =fr~ P 28 28
317 | =AY 6.2 6.2
318| “hiik R 32 223 255
39| N= ) — )=V T )a—)v
320 /=N Tx)—)V 0.81 5.5 6.3
321 N F U LMLAEW 3.4 2,787 5,878 151 8,820
5 —[N, N—EA(Q2—=TEFLFFv =T
322\ ) 73/] -2 — (2—FuE—4, 6—-V=} 782 1,643 2,425
n7 =)V TY) =4’ = AT TR =YK
323| v AR 16,175 1.9 16,176
394 1, 37}:‘3[(2, 3—ZARFT SO ) F %
DAtV 4%
325 |AF L4 229,374 9.9 229,384
326\ /n7c Fv
3271, 2—ER(2—Zunry==)L) ERTVV
328|2T 4 58 24,576 241 24,875
329 [ARY B — 3 A—F 140,731 140,731
EA(1—AF N —1—Tz=pxF L) =~
330 e 281 62 344
331 A AHYHEA 17,541 17,541
332 | fit Kk OB A 0.001 618 0.27 318 374 1,311
333 LR 99 99
334|4—ERuX s ZAHFRMAT IV 465 465
335 N— (4—bRa¥ 7= ) 7R IR 43 43
336|bRpx /v 84 747 831
3374—b =)L —1—v7a~Fk
338|2—E =LY




XL FYE AERIPEH B (kg/4E, X AAX B IEmg-TEQ/4E)
1 2 5 7 8 9 10 m B 13 14 5 18 21 2 23
X GERE e T
e W DEEHD| e WSS | GEAL | DA TR IO o e WEE | BGEE HZ P < o | PR EREE gt
T‘E‘?UU = Bl IbpEdnsE | THRA v peil - H " ] i3 TSR 3 e = =
=)L—2—trlRr
LA 1477
: 62 141 203
343 hFa—L
AT AR T
345 |7 == )V ER TV
36|12 Tl )L 11 10,014
MTIN—T == /L= A3F
348 7=l VT 313 313
349 7=/ —L 2,651 87 1,504 1241
350/~ L AR 10,684 22,432
351|1, 83—/ 4V 14,714 34,034 576,825 11,301 43,480 262,573] 14,172 27 970,042
362| 7 X NEEY T IV
353 | 7 HNVEEY =TV 7.9 7.9
354\ 7 FILERS — I <o — T FIL 1,066] 2,008 26,904
355|7 UL A (2— TF L ~F L) 12,935 1,220 14,155
356 |7 ZNEE I VT —T F =~ T 386 386
3577 TR =Dy 15,808 15,808
358|577 7= )UK 1,082 4082
359 /11/711:77“7‘/1/72, 3—TRF 7o’
LT —7)L
360~ UL 96,320 96,320
361|107 T T 41,062 41,062
36207 7z Fmy 10,350 10,350
363 A% VT 15.960 15.960
364 72 BT A 3.253 3.253
365|BIIA
366] 4 —> v — 7 F /L —EFa-LAF IR
367 | AN =V I H)V—TFNT =) =)L
368|4—F—s v~ TF VT ) 15 15 30
369|70/SL Xk 17,073 17,073
370|EUF 5,58 5,518
|57 = BT 1.160 1,160
N— (F—= %) =T FN) —2—~2VFT
32T e 532 532
373 2— =X =T FN—5—AF N Tx)—
v
374| 5o (LA F R OZ O K 82,473 127,404 1,000,616
375 2— 77—
3767 Foa— 151,021 0.43 151,021
31|75
38| T xS 127.190 127.190
379]2—FnEy—1—FA—L 5.0 5.0
380~ —1211
381 TaED/ AT 12,201 16,638
382]mr — 1301 11,576 11,576
3837w 189.493 9.9 189,503
384]1—TnETasy 102,570 102,570
385|2— 7 mES N
386 | BLILAT /L 137,83 137,835
387 | BT =L T HARX
38| RANLT 7
389 ;?*ﬁrﬂww}’W/%*'ﬂ‘*’”U 1,925 26,542 8,487 36,954
390 ~EFFAFLLUT I 0.040 0.040
301 [ ~FFAFL L =4I T F—F 51 0.037 54
392 Il — o 2.038.652 159.638 3.688.452 82.487 35 6.714]  6.064.418
303 | ~FF TR 15 15
394 | _YYT AR REDALEY) 909
395 | ~ULAY CHRER O KA 198 198
306 PFOS
397 |~ VUYL = ZalR
398 [IAL~> UL 0.65 0.067 0.72
399] < A7 FER 0.22 8.458 248,456 6066 22210 15,205 3,543 55 304,892
100/ By 122,458 378 202.586] 27.810 3.818.242 120,575 254,682 463.620| 14,172 211 [8.572] 5,146,844




KL AERIPEH B (kg/4E, X AAX B IEmg-TEQ/4E)
1 2 3 4 5 6 7 8 9 10 11 12 13 14 5 | 16 | 17 18 19 20 21 22 23
KRR .
Wi iR i | . - o | T g e R s
o st P i . fERG | vl | Bl | PUR | 7aEo . FEERA B SEH| M2 we | AVURE | LT EEAR| R, T &t
F5 ’J‘%%;J\_JUL}L JEEE | Bl | BRI Bk i et | LA Y i EEUE - W i i s JKiE T «*vi%/ Wt - %@ﬁﬁ#& J//)k}%fﬂ#&

01 71“; 4—_UBUN VRV L, 2— 0.002 0.002
402 A7 =F v 31,679 31,679
403[ Ry T =) 0.26 0.28 0.54
404 |~ BT x ) —)v
405135 F LB 15,327 5,784 4,032 1,438 1,606,382 1,632,963
406/ PCB

RN (FFLoFLo) =7 LFLo—F/L
407 | (TR NIED IR FHLI 1203515 FTOE 58,444 710,176 1,212 13,153,706 842,658 14,766,197

DR CZDIREWITIRS. )
108 i”_(iff/Iﬁ//) =HIFNT == 1816] 236,729 0.62 237,756 1,619 180,921

R (FF L 2F L) =R T Lm—T i
100\ S e 6,227| 1,113,062 263 2,934,226 1,120,243 5,174,020
410 ?'})b(’““/lﬁ//) =/ENT == 73,849| 462,255 2,254 49,337 7,497 595,192
A1 VLT L FER 605,731 20,411 92,322 41,830| 2,457,737 22,266, 726,339| 776,258 42,517 6,458 937,534, 30,623| 6,699 5,766,723
12|~ A ROZDALE Y 185 1,515 1,031 237 1,389 4,358
413 k7 2L 184 0.26 184
414K~ L AW 0.53 3,551 0.79 3,552
415 AX 2L 1,773 303 2,076
416 AZ VU VEE2 — T F N ~F L 103 0.006 103
417 AB 2V LEE2, 3— TARX LT L 0.060 0.060
A8 AF VU2 — (VAT NTI) = F )b 1.0 2.0 3.0
49| AZ IV IVEE ) NV~ )V —T F )L 0.47 0.47
420 RH 2 VERAT L 40,405 12,045 529 52,979
421[4—AFVF o AF L —2—F
4227 =)/ 87,472 87,472
123 AFNT I 0.024 0.069 0.093
424 AT = A F AL T F—] 106,220 106,220
425\ (Y7 ahNT
426 L RT T
427 I UL 34,540 12,862 47,402
4287 = )T INT 9,935/ 10,169 20,104
429 ANOAL T AT L 9,478 9,478
430 AL FXH I T 1,350 1,350
4317/ % AnE L 66,741 66,741
432[ 7T R 4,880 4,880
433 — 0 49,850 49,850
434 A% YL 7,222 7,222
435 LY Sy AT 8,995 8,995
136|T LT 7 — AFAAF LY 7.1 7.1
437|3—AFNTF AT —)v
48 AFNTTHL 561 132,522 45 3.0 133,131
439[3—AF ALY 0.97 0.97

1—AF N —1—Txz=)L=F/L=bRr~L
440/ 3770 10 38 48
4412~ A= AFATHEL) —4, 6—V=}n

Tx/)—=)v
442 AT =) 8,248 8,248
443/ AL 40,339 40,339
444N 7 BF L ARE Y 8,870 0.43 8,870
4457V V%L IAF L 35,044 35,044
4464, 4 —AFLLVT =)

AFLLER(A, 1 -2 7a~Fily) =
1|70 50 50
448 ;ii/tx(“' 1=T=2) =VAYvT 6,545 19 6,564
49|72 AT AT 7 A 91,022 2.6 91,025
450 VT F AN T 12,861 12,861
4512~ AR% L —B5—AFAT =Y
4522 — AV AT AU F T 459 2.0 460
153 )7 T R OZDILEY) 105 20,369 256 20,729
454(2— (ENVRY ) DFA) RS F T =) 38 38
455 /LAY 4,264 12,172 16,436
456 D AALT L= A 11,812 11,812
457V RA 47,200 64 47,263
458 | D AUBEN A (2— = F L ~F L)
459 | ABER A (2— T L) 125 125
460 [0 ABERY RV 69 8.1 77
461 DAREN) 7 ==L 164 1,441 1,904
162 Y ABER)— L= — T F L 0.009 0.051 0.060

[E) it 27,547,963 29,638,264 | 264,442| 776,091 23,432,361 4,222,222 | 25,445,542 5,737,240 1,263,837 621,957 47,374,233 1,000,791 | 1,864,530 3,861,223 | 127,578 52,537 | 115,864 | 3,414,534 30,547|2,412,6608,088,243| 172,326 241,328| 187,675,766




